
Doll Underwear
Four different models to fit a crochet doll size 11 cm (4 1/3’’) tall.

Tip: Crochet over any loose ends whenever possible  so you don’t have to weave in ends later!
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Materials 
DMC cotton thread, size 10.
Crochet hook Boye size 8  
To fit a taller/smaller replace with a coarser/thinner thread
and a crochet needle to fit.  

Abbreviations US
ch = chain						     lp = loop
sl st = slip stitch						     tog = together
sc = single crochet (UK double crochet=dc)		  st = stitch
hdc = half double crochet (UK half treble crochet=htr)	 nxt = next
dc = double crochet (UK treble crochet=tr)		  skip = UK miss
tr = treble crochet (UK double treble crochet=dtr)

Note!
Each row starts with:
Ch 1 if the first stitch is a single crochet (not counted as one) 
Ch 2 if the first stitch is a half doube crochet
Ch 3 if the first stitch is a double crochet
End each row with a slip stitch in the last ch of the previous row.

Model 1:

Round
1	 Ch 28, 1 sl st in the first ch = 28 ch in a ring
2	 Ch 4, 1 dc in the 4th ch from the hook, (ch 1, 1 dc) 13 times, 1 sl st in the 3rd ch 

in the beginning of the round = 28
3-11	 1 sc in each stitch = 28
Leg:
12	 1 sc in each of the nxt 14 st, skip 14 st = 14
13-16	 1 sc in each st = 14
17	 Picot edging: (Ch 3, 1 sc in the first ch, skip 1 st) 7 times. 1 sl st in the first st. 
Fasten off and do the other leg alike. Pull a ribbon through the holes in the waist and tie.

Model 2:

Round
1	 Ch 28, 1 sl st in the first ch = 28 ch in a ring
2-11	 (1 sc, 1 dc) 14 times = 28
Leg:
12	 (1 sc, 1 dc) 7 times, skip 14 st = 14
13-16	 (1 sc, 1 dc) 7 times = 14
17	 14 sc, 1 sl st in the first st.
Fasten off and do the other leg alike. 

Model 3:

Round
1	 Ch 28, 1 sl st in the first ch = 28 ch in a ring
2-11	 (1 sc, 1 dc) 14 times = 28
Leg:
12	 (1 sc, 1 dc) 7 times, skip 14 st = 14
13-16	 (1 sc, 1 dc) 7 times = 14
17	 (1 sc in the nxt st, 3 dc in the nxt st) 7 times.
Fasten off and do the other leg alike. 	

Model 4:

Round
1	 Ch 28, 1 sl st in the first ch = 28 ch in a ring
2-11	 (1 sc, 1 dc) 14 times = 28
Leg:
12	 14 sc, skip 14 st, 1 sl st in the first st
Fasten off and do the other leg alike. 


